N & o & AF & H Al A
20219 &= E0lat LB E2EXAA
SN B
M FQAM AN EP(UUDDHT/AUHET)
el ARES (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SEH A 6,439,809 7,287,317 A 847,508
= 8,245
< 23,533
Al 6,408,031
TN MEXN 2 (Ut @A /LptEA) 3,769,712 3,714,679 55,033
ANEBEE 3,769,712 3,714,679 55,033
ANEEE 3,672,512 3,610,899 61,613
101 124l 1,944 0 1,944
4 D122 E2EXNSEES 1,944 0 1,944
OolgAUAT By BF oy 1,944
=g 69,760& * 1H » 25¢ 1,744
— 428 RE2 200,000& = 1H 200
201 Let24d] 3,541,407 3,409,679 131,728
01 At 22l 3,437,480 3,336,300 101,180
OFUWdE =& 15,0003 = 145% = 12& 26,100
OAl g2t 500,000& * 603l 30,000
OAE J15 22| 16,600
—ENGItOict EEE HI22ts 7Y
800,000& = 504 4,000
— 228 HIXea3tE F 100,000 * 204 2,000
—HZzE USB +< 5,000& = 2004 1,000
— At& stz 800,000& « 12& 9,600
OZ22& X 7+ 12,600
— XNXNHE 2 113 7,000& = 1508 « 12& 12,600
OZg= AAX '36.5 ="' Y2t
135,000,000& * 14! 135,000
OQadA 5 = AIFEE(TV, 2tU)
420,000,000& * 14 420,000
OOIMAAT o ZQAM E2(M2, BX S)
500,000,000& * 14! 500,000
OF2 =M 882 s ¢H Ja= WA
10,000,000& * 2 20,000
OJIZEEd ME (M) 150,000,000& * 14 150,000
OANERmA BH= M 50,000,000& * 14l 50,000
OXZH(INENZA) B#E B
22,620,000& * 14 22,620
Olizs=28 ¢ Z208 M
450,000,000& * 14l 450,000
OLFAl OI0IX HEAI(IEZE S) 82
50,000,000& * 14l 50,000
OXEAOIE ZD(QaAAT F)
6,000,000& = 10& 60,000
Odstz 2 (22 2 =M )
20,000,000& = 2& 40,000




2N

=

S

FH - =
X XH -

el

BE .G (3) - MY - BES il
OMHourZ = Alel= SEgGAE ME 2 &= 160,000
—Z4= HMA 20,000,000& « 5™ 100,000
—ga= 5= 12,000,000& * 5& 60,000
OUSA HWEWS(8Al) 822D
80,000& = 110CH » 12& 105,600
OR%E &1 25,000,000& = 43 100,000
OSRHEI|HAAS BN 4g
70,0003 * 4% « 23| 560
O E2MEHZE 2 7,680
— = gl 7,000& = 109 = 23| ~ 12& 1,680
—ANE g BE Y BE
250,000& = 23| = 12& 6,000
OsS¢sE 23t 21 370,000
—Tv&1 10,000,000 = 3 * 10= 300,000
— bl &1 1,000,000& = 7 = 10 70,000
OsStE JI8ds 10,000,000 * 43| 40,000
OsStts RFE =4 OHHE
50,000,000& = 24l 100,000
OsS4E UEA =22 dZE 82
5,000,000& » 40 « 6& 120,000
OUHEAIXNSE 22X 28 04|
2,500,000& = 164 = 10 400,000
Os=2dZIal?ds &4 Wl
90,000 = 4Y « 23] 720
OKTX A& & 25,000,000& = 23l 50,000
=323l 103,927
OADJEOIAH AIEZ
165,000 = 3500 &l = 12& 69,300
O E22LIEH X224
300,000& = 123 3,600
OEZ&EHl sl 10,425
—HICI 2302t (&)
25,240,000 = 2CH * 3/100 1,515
— HICI23t0 2k (th)
130,000,0002 * 2CH * 3/100 7,800
— CIXIE3tHet  5,000,0008 = 2CH = 3/100 300
—BIOQEZME 27,000,000 = 3/100 810
OEEZH & BE8& 1,000,000& * 14 1,000
OOI2I0IEAMAE ATEN 2R E I
197,997,740& = 9/100 * 1.1 19,602
AR F=AH| 6,750
ANZEZ=XH S =X 6,750
OF2A 22 HRFAH|
6,750,000& = 14 6,750
ALUENF 3,240




SN B
M FQAM AN EP(UUDDHT/AUHET)
chelr NEER CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
09 HALAHIX A S 3,240 4,320 1,080
O=EUA S EEESHI
0,000& » 698 = 3 « 23| 3,240
303 L& 3 8,000 8,000 0
01 243 8,000 8,000 0
OER42NH Y
1,000,000& » 371& * 23l 6,000
OANZE 229 gola  100,000& » 5% 43 2,000
307 glz2+ol & 103,171 110,400 NT,229
02 HAFHAANFEE 70,485 74,200 A3,715
OYFAILEHL S N (2XS F)
60,885,000& * 14 60,885
Ost=2XNREHY IFAIXS MY BEX(BEXE
80%) 5,600
—0HHUZE=0SAE 2EAY
2,000,000& = 141 = 80/100 1,600
—H=32 Us A
5,000,000& = 14! = 80/100 4,000
OUESY IFAEASG AIY BEX(BEXE 80%
) 4,000
-~ ¥5d SY DR AY
5,000,000& * 14! = 80/10 4,000
03 QI HE2IHEx 32,686 36,200 A3,514
OS2 UREAY IFAXNE 2IH(ExZs &
oH) 32,686,000 * 14 32,686
405 RHoHE S HI 8,000 71,000 A 63,000
01 AL EZFH S 8,000 71,000 A 63,000
OZEIZHE Jtiict =F &yl
8,000,000& * 14 8,000
=0ICIOE 288 ANZEEE 97,200 103,780 6,580
201 ¢et24] 63,000 79,580 A 16,580
01 At 2t 2l 63,000 79,580 A 16,580
OSNS 22 ZEHI= g & HE
40,000,000& * 14l 40,000
OSNSs 28 28 = HMAEAE 25 % 0/01X etol
A 7Y 1,500,000 * 24l 3,000
ORsE &8 2d= Mz
20,000,000& * 14l 20,000
301 LEXZ 28,000 24,200 3,800
09 HALAHIX A S 2,700 2,700 0
OSNS S 2 AL A2 4
90,000& = 30¥ = 12 2,700
12IJEEd=S 25,300 21,500 3,800
OSNS 22 0= 20,000,000& = 14 20,000




SN B
M FQAM AN EP(UUDDHT/AUHET)
Sl NFER (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSNS E8H 8k A&
100,000& * 3%H 300
OSNS OIBIE EHOHX JIESE
10,000& = 50& = 102 5,000
303 L& 3 6,200 0 6,200
01 243 6,200 0 6,200
ORE:E Y& Z2H 5,000,0002! * 14! 5,000
OSNS B2 42N - M8 T4
1,200,000 * 14 1,200
HESIAI (LS ZHT/UBIEHH) 2,178,157 3,024,033 A 845,876
= 8,245
< 23,533
Al 2,146,379
HY ZE3 F&H 1,895,135 2,488,540 A 593,405
< 6,345
Al 1,888,790
HEMA 22| 7K 1,086,916 1,081,525 5,391
201 ¢4 918,759 917,931 828
01 At 2t 2l 43,100 48,600 A5,500
Obt0lei~ o= 8 2 WPCXII|0| ?%!
34,000,000& * 14 34,000
OMNEEES NS AT 800,000& » 24 1,600
OXAEH Xt Z 200,000& « 30CH 6,000
O AZHl =&l 30,000& = 50CH 1,500
02 2324l 875,659 869, 331 6,328
OQHY HE3H AEE 240,600
-—=& 800,000&  12& 9,600
—ANEEMZ 700,000& = 12& 8,400
—AEJ 2, AL, SHS
350,000& » 53z « 123 222,600
O&AaL AIEZ 52,480
— Bl QIHYUAIE S
30,000& = 303l » 12& 10,800
—H=s0a S32A0/L0] Y AMAEZ
2,000,000& * 13l * 53 10,000
— 3320/I0l Y AIEZ
33,000& = 803l « 123 31,680
OdgZ¥EZLel0l SMS AE = (UMS)
1,200,000& * 128 14,400
OdstE AtEZ 300,000& = 12& 3,600
OHEAPC MEZ 900,000& = 12& 10,800
OloTHZ T AIEZ 8,000 = 300CH = 12& 28,800
O2AHel S (LAN) & X
1,200,000& * 50 & 6,000
OANEZHIRXHI (AL SE8ERANES) 513,579




2N
X ZH -
L= B

el

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— CiOlEIHi Ol A2 el Al A& (DBMS) S AIZ 2Hl 18,942
- 2-LieH(gRE2)AIAE 9 35
123,000,000& = 14/100 * 1.1 18,942
—GotER/ON |24 212,597
- 2-UeH (e )AIAE 2 4B
2,761,000,000& * 7/100 * 1.1 212,597
—ATEN RN B4 71,720
ce-UeHgeme)Ary o 185
652,000,000& = 10/100 * 1.1 71,720
— 2otEHl K24 210,320
LHAA ZOHAIAE 2| 28F
1,912,000,000& * 10/100 * 1.1 210,320
OFAAY gRETZ2)E 41 ¢ U=0d
30,000& « 180CH 5,400
308 XX EHHSOIA 168,157 162,823 5,334
113J/2SoHUHSI S EAE ALS I 168,157 162,823 5,334
O2-LetAlAE |SX2el  17,769,000& + 14 17,769
OXXISHH SSIIg dAFH sX2e
109,891,000& * 14 109,891
OXNSMHEZelAAE (e-3X) RR22
29,012,000& * 14l 29,012
OANZ+ Mail=SAIAE A2
5,025,000& * 14 5,025
OXNYHYSHIZAALY AGHH 29
6,460,000 * 14 6,460
HAEH B3 653,880 1,278,320 A 624,440
201 Yet2 | 154,880 191,720 36,840
01 At 2t 2/l 154,880 191,720 A 36,840
OYRELTEYH 2L 154,880
—E=AXAEEY 74,0003 = 42004 31,080
—MS QI 250,000& = 2804 70,000
—0I0IK#EE 550,000& = 2004 11,000
—sZ4EZY 1,200,000& * 24 2,400
—EACHEEY 490,000& * 80 39,200
— HOolEHoNA 2elZz2 0
600,000& * 24 1,200
207 A RO EH] 80,000 122,000 A 42,000
02 M AR 2] 80,000 122,000 A 42,000
OdHFL SSL 25 =53 AMAHE 2=
50,000,000 = 1 50,000
Olp2telAlas &4 30,000,000& * 14 30,000
405 XHobF S HI 419,000 964,600 A 545,600
01 et EZFH S 419,000 964,600 A 545,600




SN EEREMA
HE: HPSAY(LHNTIYT /YY)
X |. PN +

SN HH-S(BN) - MBAY - B il HlnE2
OSAN 22X A (=8 wHM)
18,000,000 * 2CH 36,000
O2Hel WESRZA AKX A
1,800,000& * 15CH 27,000
OR0IpALZIE 253 FHI(WPN) 7
2,000,000& = 3CH 6,000
ogeasll uH 37,500,000& * 2CH 75,000
Od&A AH 2 HWEKIS WA S DH
6,000,000& * 5CH 30,000
OgeE datEd 2 245,000
—da2as 1,300,000& * 150CH 195,000
—2LIH 300,000& = 150CH 45,000
—Z2E(EH) 500,000& = 10CH 5,000
AYEs 54 10,385 23,741 A 13,356
201 LB-2dH| 10,385 23,741 A 13,356
01 At 2t 2l 10,385 23,741 A 13,356
OXY K5 ¢ HFE3 WKW
15,000& = 23& =« 77| 2,415
OXY KRFE L HEF Ws A=
50,000& * 12A12F = 77| 4,200
OZENEE AREFH| 50,000& = 12& 600
OHESWEE A8 4| 2,380
— T2y =2
100,000& * 1CH = 23| * 50/100 100
— T2l EY 200,000& = 23| = 10K 400
—ZFH =2
100,000& * 23CH = 33 * 20/100 1,380
—YHEZHE =g 500,000& = 1CH 500
OZ30I0Ie & =OOoIH s ZA= 790
—2AME 700,000& = 13l 700
— ol 90,000& = 13l 90
dE MU A 283 122,800 98,200 24,600
201 LB-2d| 47,800 48,200 A 400
01 At 22l 3,800 3,800 0
OOl 24 Al2st AZEAN ¢
1,800,000 * 14l 1,800
OOl JI=2H HMA EIoRAY =<
2,000,000& = 14 2,000
02 3322l 44,000 44,400 A 400
Oz M2 24 2SS MER
44,000,000& * 14 44,000
207 A& H| 75,000 50,000 25,000
01 A ESHI 75,000 50,000 25,000




2N
X ZH -
L= B

el

LR PN
HOSAY(LUDDHY/AUHE)
HE HPs EA

- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
O%USFSE 2HOoleH 248 AIY
40,000,000 = 14! 40,000
OYZ=Al 9HOIE JI2HE £+
35,000,000 = 14! 35,000
(S)HA 222010 dXN2H(2IEEXH) 21,154 6,754 14,400
== 6,345
Al 14,809
201 gBt24y| 21,154 6,754 14,400
= 6,345
Al 14,809
02 =224 | 21,154 6,754 14,400
O"HA Z22290/0t0] &x 362
28,4323 ~ 620 ~ 12& 21,154
= 6,345
Al 14,809
XNeEHEg =& 283,022 535,493 N252,471
= 8,245
= 17,188
Al 257,589
EHOIX &9 131,840 261,840 A 130,000
201 et d| 31,840 35,840 A4 000
02 32%H| 31,840 32,840 A 1,000
OWjel AAHA 2010 HUHIA AlE22
600,000 * 24 1,200
Otel &AMHIA Q1200 T S MHIA AMES
350,000& * 204 700
OZHOIXN Jls =t 2,000,000& = 23| 4,000
OAl EHOIXI SXIE2(S/W)
160,000,000 = 12/100 = 1.1 21,120
Oelgul ool D2t & Iy 4,820
— Y920l 30,000& = 914 2,730
—st2=0 ¢l 66,000€ = 2504 1,650
—CMHQo SEH| 220,000 = 204 440
207 SO0 £ 60,000 160,000 A 100,000
02 & AW Y| 60,000 110,000 A 50,000
OZHOIXK MeIEE L= XCtAlAE 10
30,000,000& = 14! 30,000
O AADCS UM SHALY P
30,000,000& = 14! 30,000
405 XHA&HF S HI 40,000 66,000 A 26,000
01 XML Z2FF S| 40,000 66,000 A 26,000
O=sa | 2ae Wi 40,000,000 = 1CH 40,000
AMBIAEES A F=&X 13,310 29,374 N 16,064
201 LBt 9H]| 13,310 29,374 N 16,064




SN B
H: FESAMY (LSS /YY)
ool NHFEE =T CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 13,310 29,374 A 16,064
OANFES W= W
15,000& = 23& * 47| 1,380
OANREES W TAME
50,000& = 30AI2t = 47| 6,000
OFLUFZB0EANE ARESHI
50,000& = 12& 600
OFLUFEB0EANE A2 =4t 5,330
—dFH =a 100,000& * 54CH » 20/100 1,080
— ZEH =2l 100,000& = 17CH = 50/100 850
—Z2H EYH 200,000& = 170H 3,400
(S)HE302 T2 2l S4 43,002 42,484 518
< 9,188
Al 33,814
307 21201 A 43,002 42,484 518
< 9,188
Al 33,814
02 It S AIHE L 43,002 42,484 518
O3E30tg T2l 29 43,002
— =Y 21,876,000& * 2% * 80/100 35,002
= 9,188
Al 25,814
— 42 E AR RE=S 2 EAS
8,000,000& = 14 8,000
yesisey 31,870 37,790 A5,920
201 Let2d] 13,470 14,670 A1,200
01 At 22l 3,000 3,000 0
OBl EES2(HY, BEX S) MEH|
1,500,000 = 200 A 3,000
02 232gl 10,470 11,670 A 1,200
OZE=0tE SHOoIXN R
35,000,000 * 11/100 * 292 * 1.1 8,470
OZEs0S F2dH AAEH =4 2,000
—ZFEH, 2LH =2l
100,000& = 63 » 2014 1,200
—TEH EU 200,000 = 23] * 2004 800
301 YU BHZ 8,640 11,520 ~2,880
09 HALAHIXI &3 8,640 11,520 A 2,880
O&EsiE 2EAA U= &It
90,000 = 2F * 33 * 2044 1,080
OZEs0ls A Hatu=x
90,000 = 6F * 2 * 2JHA 2,160
OZE=0t= HAE HIF K|
90,000& = 6F * 3 * 2JHA 3,240




SN BREMA
H: FESAMY (LSS /YY)
@ XNFFEs =8 (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFES0IE T2yl s &It
90,000& = 33| * 2& * 2044 1,080
OZES0IES HHHEH &It
90,000& = 2 * 3 * 2JHA 1,080
307 gl2tol & 9,760 11,600 A 1,840
02 IZHE M AHE L 9,760 11,600 A 1,840
OFEs0t2 HAEH/SHM/EAHEH S &It
HI(EZXE 80%) 4,700,000& * 1Al * 80/100 3,760
OZEs0tE Ml bl XA (EXE 5
0%) 6,000,000& = 2JHA * 50/100 6,000
()32 L35 10,000 10,000 0
< 2,000
Al 8,000
307 21201 A 10,000 10,000 0
< 2,000
Al 8,000
02 It S AHE L 10,000 10,000 0
OZFEZso=sg4dstX&  5,000,000& * 204 10,000
< 2,000
Al 8,000
(2)2>F2s0t2 U= ¢4 53,000 53,008 A8
= 8,245
< 6,000
Al 38,755
307 g1+l & 53,000 53,008 A8
= 8,245
< 6,000
Al 38,755
02 It M AHEE 53,000 53,008 A8
O=2=+=Z=23s0ts U 23 53,000
— o= 25,000,000& * 2% * 90/100 45,000
= 8,245
< 6,000
Al 30,755
—4n2E NN RE2 L SN
8,000,000& * 14l 8,000
Sde (LSS /Lo H) 383,086 393,759 A 10,673
sl 383,086 393,759 A 10,673
s 4l 2t 383,086 393,759 A 10,673
201 Let24d] 222,686 230,759 A 8,073
01 At 22/l 1,200 8,000 A 6,800
OdFMsHsHE M= 1,200,000 * 14 1,200
02 =224l 221,486 222,759 A1,273
O322= & HA 154,256




>

2N

EZ LA
HH: SNBE(AUBTHY/LBHET)
el AR (crl ®a)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—dEBSHY MEIHE & MRS 154,256
HdIME=S 8,500,000& = 12& 102,000
=INFESHY AEZ
400,000& = 123 4,800
etk gt 300,000& » 12& 3,600
ANUHE S AIEE
20,000& = 603l & = 128 14,400
SUHHEst AAE2E
100,000& = 60 = 12& 7,200
gt 32 523,000& = 123 6,276
SESHLES FEJH MER
82,500& * 23| & * 12& 1,980
SEE2E SHHES ALHMER
2,500,000& = 23| 5,000
QIAMAT MIAIER
30,0008 * 503 & * 28 3,000
OIMAUAT QIEHY 3| M2
60,000& = 5034 + 28 6,000
OA& &8l |Xdl| 67,230
—wad ¥ FUHEY SNE= 44,430
FSik=l M= PSS SN 150,000,0002 = 7/100 10,500
= AIAE 35,521,200& = 7/100 2,487
SHHEZES AMAE
28,631,780& * 7/100 2,005
- ZAIHI AT A E 8,980,000& = 7/100 629
- NS ASEX 7,425,000& * 7/100 520
- 3501 7,840,800& * 7/100 549
- 3D 256,942,400 = 7/100 17,986
- VOIP &3tH 50,593,950& = 7/100 3,542
- REE HAEX 34,737,350 = 7/100 2,432
- St YSE X 13,360,000& * 7/100 936
-SEY AOE AR 2,844
*OLEAA 8,157,600& = 7/100 572
MATE QO 22,711,500& = 10/100 2,272
—SESHALSAMNLAYE SAES
240,000,000 = 7/100 16,800
—APRA THHIXIO E SAE2 &3
600,000& = 53| 3,000
—$EEH |AE* 3,000,000& * 14 3,000
401 Al HIZ 201 8] 40,000 20,000 20,000
01 A& HI 40,000 20,000 20,000
OQaAALZ HAT SHHZ L HHI S
40,000,000& * 14l 40,000
405 TtobFH S| 120,400 143,000 A 22,600
01 AL EFFHSHI 120,400 143,000 A 22,600




SN B
HH: SNBE(AUBTHY/LBHET)
ool sl (SHol: @)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OlpHE3I #¢ 500,000& = 400H 20,000
OCIDEF I ¢ 40,000& = 20CH 800
QeI = (LT™) WA 3,800,000& * 20H 7,600
OUE<RIa AKX #¢ 3,500,000& * 2CH 7,000
O NG AQE LBAAH =
85,000,000& *» 14 85,000
HESHAAL(EEHAA)(DIEH/DIE) 108,854 154,846 N 45,992
Jl2& bl 108,854 108,626 228
&l 108,854 108,626 228
201 LEt2 Y| 25,394 25,166 228
01 AFR2t2ldl 25,394 25,166 228
O=sAMEX 7L 16,000 * 192+ A = 128 3,648
OEZ A 7,000& * B6A! x 19Y x 128 9,576
Ogbteg 100,000& * 12& 1,200
O EA7HI 50,000& = 12& 600
OLAL =44l 9,230
— ZAP(HE) =2l 1,000,000& = 1CH 1,000
— ZEEDl %2l 100,000 * 5CH = 50/100 250
— 2A EY 200,000& = 53] = 104 1,000
—D2HII(SH) EY
200,000& = 53] = 504 5,000
— TRIED(ZY) €Y
200,000& = 53] = 104 1,000
—PC =2l 100,000 * 19CH = 20/100 380
— J|lEt==2l bl 50,000& = 12& 600
OJIEF AR E S| 5,000& * 19¥ x 12& 1,140
202 04| 78,660 78,660 0
01 2LHOHI 78,660 78,660 0
OB HRFE (bl 78,660
— 2L o B 20,000& * 19Y * 122 x 12& 54,720
— 22 04 bl 90,000& » 19Y = 14 23,940
203 & 2= & | 3,600 3,600 0
04 ENSIHRF=AY| 3,600 3,600 0
ORNS2gIRF&Y| 300,000& = 12& 3,600
204 X2 =2 F H| 1,200 1,200 0
01 SR HAH| 1,200 1,200 0]
ONMZARLHAY (ELHMAH)
100,000& * 19 = 12& 1,200




